Ok Here goes:

1.0 Average Cost:

1

2

3

4

5

Total

Cost of Machine

44,570









44,570.00

Service Contract Cost



3,060

3,366

3,702.60
4072.86
14,201.46

Service Call Costs



2,400

2,640

2,904

3194.40
11,138.40

Supplies


2,800

3,136

3,512.32
3,933.80
4,405.85
17,787.97

Personnel


59,000

59,000

59,000

59,000

59,000

295,000.00
TOTAL



106,370
67,596

68518.32
69,540.40
70,673.11
382,697.83
Average Cost Per Year: 382,697.83 / 5 years = $76,539.57

Reasoning:

· Effectively, the average cost of the project stays the same for all four options, so it has no significant effect on our comparison. Nevertheless we still put it into our final analysis.

· $59,000 personnel costs are constant as the question specifically stipulates that “personnel costs of the hospital industry have increased by 8% annually in the last few years”. The fact that it has risen in the last few years is not significant to the question as it is not future orientated.

· The depreciation of the equipment is an irrelevant cost as it will be accounted for in the initial outlay of $44,750 after being averaged out.
Analysis:

Option




A


B


C


D




Number of Beds in Unit

8


8


8


8

Rate of Utilisation


40%


60%


40%


60%




No of Beds Used Per Day

3.2


4.8


3.2


4.8

Number of Days Per Year

365


365


365


365




Number of Beds Per Year

1168


1752


1168


1752

Incremental Rev Per Bed

80.00


80.00


120.00


120.00




Expected Differential Revenue
$93,440

$140,160

140,160

210,240



Number of Beds Per Year

1168


1752


1168


1752

Standard Room Charge

$120


$120


$120


$120




Standard Room Charge Revenue
$140,160

$210,240

$140,160

$210,240



Increase in Revenue


$233,600

$350,400

$280,320

$420,480



Discounts/Bad Debts (10%)

$23,360

$35,040

$28,032

$42,048



Net Revenue of Proposed Venture
$210,240

$315,360

$252,288

$378432



Average Cost



$76,539.57

$76,539.57

$76,539.57

$76,539.57

Opportunity Cost (See Below)
$700,800

$876,000

$700,800

$876,000



Differential Margin


($567,099.57)

($637,179.57)

($525,051.57)

($574,107.57)



· Therefore based on just financials and figures available, option 3 is the best alternative as it has the closest differential margin to zero. Although all of these margins are running at a loss, there are a lot of qualitative factors to consider such as whether the cardiac rooms will be freed up allowing the hospital to use its freed up resources to service their patients better.

· The standard room charge is still relevant as we require it to calculate the ‘discounts/bad debts’ figure.

Opportunity Cost:



A


B


C


D



Number of Beds being utilised

In the telemetry unit that are 

Not being utilised in the cardiac

Care rooms:




1,168


1,752


1,168


1,752

Lost Cardiac Revenue Per Bed

$300


$300


$300


$300



Lost Cardiac Care Revenue Per Year
$350,400

$525,600

$350,400

$525,600


Number of Beds in Med-Surgical Beds

Each Year (8 x 365)



2,920


2,920


2,920


2,920

Lost Standard Room Rate Per Bed

$120


$120


$120


$120



Lost Medical-Surgical Room Revenue

Per Year




$350,400

$350,400

$350,400

$350,400


Total Opportunity Cost


$700,800

$876,000

$700,800

$876,000


· RE: Opportunity Cost of Care Revenue:

· As the Cardiac Care unit is still operational, the only opportunity cost that is forgone is the number of beds that are being utilised in the proposed unit that now are not being used in the cardiac care room.

· For example, in option A, the new telemetry unit is going to be used 1,168 per year. This means that the cardiac care room will be used 1,168 times less

· Therefore the opportunity cost would be the $300 revenue forgone in the cardiac care room x 1168 times that it will not be used = $350,000 (as seen above)

· RE: Opportunity Cost of the medical-surgical wing (assuming 8 beds in that wing also):

· I had trouble doing this but got this advice….

· The definition of an opportunity cost is the “valued alternative forgone in the pursuit of an activity”.

· The essence of opportunity costs is that doing one thing prevents doing another.

· Then we turn back to this case: What is the “one thing” and the “ doing another thing”?

· “Doing another thing” is not converting the wing of the hospital. There will be no additional 8 telemetry units and no revenue from these units at all. The hospital however will have revenues from all the medical-surgical patients of the wing (assuming there are also 8 beds and full utilisation) as well as earning money from the cardiac care rooms.

· This makes the “one thing” the 8 proposed telemetry units – the hospital can earn revenue from these units, but the revenue from all the medical-surgical patients are FOREGONE together with some revenue from of the cardiac rooms.

· Hence the calculations as done above.

· I questioned him by asking that shouldn’t the opportunity cost of the medical-surgical rooms be merely $120 x unutilised number of beds per day.

· He said that this was not the case. We must look at the two options (have the telemetry unit or having the medical surgical wing) as two separate and distinct options. If there’s zero utilisation of the telemetry units, the beds cannot be used by regular medical-surgical patients, and not one cent can be earned.

· And even if all the telemetry units are used (100% usage rate), there still no revenue being earned from regular medical-surgical patients.

· So we can say that this part of the opportunity cost is unaffected by the utilisation rate and equals the revenue from all the 8 beds in the wing: (8 beds x 365 days x $120 = $350,400)

